BEBRICEAISIEL

T £ mfE(m) EREH
LR —IL 87.41 |243[E1(&ER)
EBE 171.23 [122[E (1[E/28)
FNRIZ= 5.53 |122[8] (1[E]/2H)
BEREFHENE 26.77 |122[8] (1[a]/28)
HEBREE 73.07 |122[E (1[8]/2H)
e i LUMFU BRI EED) 53.08 |122[8] (1[A]/28)
BEBE  aREm= 3431 [122@ (1@/28)
KEMRHRE 36.77 |122[A] (1[A]/2 )
P HHERE 13.07 [122@ (1[El/2H)
BRE(E-&) 18.52 |122[E] (1[a]/2H)
N E 432.35
REE 72.90 [122[8] (1[8]/2H)
&= REE 37.73 |122[E] (1[8]/2H)
BT 46.16 |122[0] (1[a]/28)
{EFT- L@ 58.82 [243[E(&H)
HWEE 7.36 [243[E](&RH)
&5 B 18.64 [122[E] (1[8]/2H)
aET 761.37
ZHh ETES e
K [ZREHR—IL HIRAB»DERE [243E(FER)
L |fERr BEMBOFRE  [24301(EAH)
5 [RBEE RLEARESE 243[E(&R)
2 ER(m) BRI
ZEHR—IL - 243[E(&ER)
EHEE - 243[E(#EAR)
FNRIZE - 243EI(ER)
BRFEEHRE - 243[E(#EAR)
HERREE - 243[E(& 1)
LR VR - 243[E(#EAR)
- |BEE - 122E (1[E/28)
& |BREEAEERZE - 243[E(#EAR)
IR [REHEHRE - 243E(ER)
£ gz = 243E(EH)
REE - 122[E] (1[]/28)
BERE(R-&) - 243[E(#EAR)
BEE - 243[E(&ER)
BT - 122[E] (1[E/28)
3Gl - 243EI(ER)
WHE - 243[E(#ER)
2 A (m) BRI
ZEEY 10.00 J122[E](1[8]/2H)
% BRER 765.00 i%@é;@ggg%
A [sms 74000 [FECTEVE)
B FEwE 963.00 [BEIGE/Z)
aET 2,478.00




Al EmICET AL

& & (m) AEREEK

LR —IL 87.41|1[ (1[=1/ )

EBE 171.23|1[E (1[E1/4F)

BEHERERE 26.77)1[8 (1[81/4F)

REBE 72,91 [E (1[8]/4F)

EEEAEERE 34.31)1[E (1[81/ %)

ENES b 36.77| 1B (1E/4F)

FHERE 13.07)1[E (1[E/4F)

BT 46.16] 18 (1[E1/4)

tHiEE 7.36 1B (1[8]/4F)

P& EX 18.64]1[E (1[8]/4F)
&it 514.62

BHSRER 173.659ni HERIEES)




